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General Instructions :

304/1

(i) This question paper is divided into four sections.

(ii) Section — 1 contains 17 Multiple Choice Questions carrying one mark each. You
have to choose a correct option out of the given options and write the same in your
answer book. Answer any 15 questions from this section.

(iii)  Section — 2 contains 15 Short Answer Type Questions carrying two marks each.
Answer any 13 of these questions.

(iv)  Section — 3 contains 10 Short Answer Type Questions carrying three marks each.
Answer any 8 of these questions.

(v) Section — 4 contains 5 questions carrying five marks each. Answer any three of
these questions.

@g — 1/ Section — 1
TP H ¥ fohel 15 79l & SR AT | 39kt iU 70 forebedt & @ Wb Wl forhed o1 9 €
3T ST ST 3T YeehT | [ ¢ |

Answer any 15 questions from this section. You have to select one correct option out of

the given options and write the same in your answer book.

AERRT faomg & 7 81 W AERRT & 78 o4l 61 9= 8 & 1
(i) Ui ok g H
(i) FEE U §

(iii) 3TR! ST AT 37k FRT ®H ol 13T T 0T & I H

In the absence of partnership deed, profits are shared between the partners in
(1) Capital Ratio

(1)) Equal Ratio

(1) The ratio of their capitals and loan given by them to the firm.

‘T S o fIT ST THe 3 €, o S R GEA a1 e | T St T8 Wi ¢ fo 39 ST
e T 37 % T 3T 10,000 W A1 I e amfew | e Wk faem wiE 1 1
() = o S e ey |
(i) “a ol AT &l e Ty |
(il) SR T & T “a” T I HeAT ey |
B spends twice the time that C devotes to business. B claims that he should get a salary
of ¥ 10,000 per month for his extra time spent. There is no partnership deed.
(i) B should get salary
(i) B shouldn’t get salary
(ii1) B should get salary only if there are profits.
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3. UERH e % T EH W, AEieR Ui U S i o6 & 1
(i) 69w @ T
(i) I S AT Hl 5T
(i) =T =T Fél
In the absence of partnership deed, partners can claim interest on capital :
(i)  at the rate of 6% p.a.
(i1)  at the current rate of bank interest

(iii) no interest

4. Tl 3R Il & qTUeATsh U g ael oY &1 ol IR TIEiRRI & UStl @dl § §&diaRo]
Y a1 ST 1
() 3% T o foqe 3T o
(i) 3% WA o T erora |5
(i) 3! oIt o ST |
Profit & Loss on Revaluation of Assets and Liabilities is transferred to old partners’

Capital A/c. in
(1)  their new profit-sharing ratio
(1))  their old profit-sharing ratio

(i) ratio of their capitals

5. wfe® AERR wH F G9e & < € 5 1
(i) S 71 WERR & F Aferd e ¢ |
(i) WENRRT ¥ fHdt U RitR §RT 31 WehSRI & fafed gemT 3 St € |
(ili) T TTENTR =l 9o & STt & |

A partnership firm ‘at will’ is dissolved when

(1)  New partner joins the firm
(1) Notice in writing is given by any one of the partners to the other partners

(1i1) A partner dies
304/1 3 [P.T.O.



6. gl AEiER H Jog &1 ST TR TR STor Uiieral st qreT T Qe i &1 St
(i) it ok I o
(i) ey % T §
(iii) I @ fodSE eraT |
The amount of Joint Life Policy received on the death of a partner will be given to all
partners in
(1)  Capital Ratio
(1)) Gaining Ratio
(11) Old profit sharing ratio

7. ST o WS W % ey
() TfEaw 3wl & eifehd g W it &l &1 =fey |
(i) e 3ieT & 3ifhd Hod o aXTe] §FT 1T |
(iii) 379 & Tifaay ) frie o 3 uidey T8 & |

As regards the issue of shares at premium

(i)  The Premium should not exceed nominal/face value of shares
(i) The Premium should be equal to nominal/face value of shares

(ii1)) There is no restriction on the issue of shares at premium

8.  3¥¥l T &X0T feRa ST Hehell &
(i) 0T 1 T HA T AT 0
(i) 91 H Suferd 8 | 3 Hddr W
(iii) T T ST T PTAH A H STEHIAT T
Shares can be forfeited for
(1) failure to repay the loan
(1)) failure to attend a meeting
(i11) failure to pay the call money

9. 39 % AT U IS BT ST SAThad =1 § Gebell &, T6 &
(i) 371 % 3ferd Tod & SRR
(i) 371 % 3ifehe oot T 25 Wit
(i) 79T % il gt T 10 Wit

The maximum discount on issue of shares a company can give is

(1)  Equal to nominal / face value of share
(1)) 25 percent of the face value of share

(111) 10 percent of the face value of share
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10.

11.

12.

13.

304/1

A RO ST G W W AN B € 3% hed &
(i) ST TS
(i) Yo" FOToE
(ili) EsH T

Debentures which are transferable by mere delivery are called

(1) Registered Debentures
(i1)  First Debentures

(iii) Bearer Debentures

AT FRT O T Bt T S &

(i) oS o Frd 9eT i 3R

(i) oI o ST 98T & AR

(i) 7 T & G 3T 7 & e geT 3T
Issue of debentures is shown by the company on
(i)  Asset side of Balance Sheet

(1)) Liability side of Balance Sheet

(i11)) Neither asset nor liability side of Balance Sheet

hE YalTE feraxuT o ST ST Hehell &

() I 9 qEr e ety % ferw

(i) T STera et STaty & forw

(i) It I &7 & fow

Cash flow statement can be prepared for
(1)  Both past and future period

(i1) Past or future period

(i) Present day only

TAE % ST & BREH H FedeT T § THE BT §
(i) O % forg vt fomdt ST aTett ety <6

(i) T T W% HA & [0 JAT o6 ST aTed hue i

(iii) ST S | T R ST oot TEE 6
Direct material in leather shoes factory includes
(1) Material used for packing

(i)  Cloth used to dust the machines

(ii1)) Leather used for making shoes

[P.T.O.



14.

15.

16.

17.

304/1

FR T TAH o TeET T H FHICRT &Il &
(i) T % =T H

(i) STEaR & adq o

(iii) OISR o I[oeh I

Direct expense to run car includes

(1)  Repair expenses

(1))  Driver salary

(i11)) Parking charges

Uizl B qHEeT 2T §

(i) =d AT % T T

(i) TR PR & o H

(iii) VIeTeT TSI T

Overheads include

(1)  Purchase price of raw material
(i1)  Storekeeper’s salary

(ii1)) Direct wages

T TEERT H a1 ST Hehdl &, HH F HH
(i) 3 Al FRT
(i) i safear grr
(il) T SATRIET §RT

A partnership firm can be formed by a minimum of
(i) Two persons
(i1) Three persons

(i11)) Seven persons

TET S T 37 &
() TTE 3T T I H G gaT o
(i)  3CUTE St YRR H oI g T 5
(i) ST T F= | oI g3 &1
Direct Labour means
(1) Labour engaged in making the finished product
(i) Labour engaged in packing the product
(1) Labour engaged in selling the product
6



gug - 2 / Section — 2

T T 4 I =l 13 T¥A1 & 3TN T |

Answer any 13 questions from this section.

18. U HIE & A% SET A AN (F2-98) ST 81 O U HISRR % Yeit @I & ST (hiee) oel o
fe@mE 3w & | 2

Mention any two items that may appear on the credit side of the Capital Account of a

partner when the capitals are fluctuating.

19.  “3, “a” 3“4 :3 : 2 & SO § oy forioid e aret FEhSR & | o et ol |/ 1/3
qT o feIT T BT JERT S € | 377, “a 3 T & INT T TaTd 31 €I 2 2

1
A, B and C are partners sharing profits in the ratio of 4 : 3 : 2. They admit D for 3 share

in future profits. What will be the sacrificing ratio of A, B and C ?

20. “WEERI BH % ST H 37 qaET | 2

State the meaning of ‘Reconstitution of Partnership Firm’.

21. i uRiefaet sase 0 UF AERR ®H #1216 foaueT & Sar g | 2

State three circumstances under which a partnership firm is compulsory dissolved.

22. AT GRT 3R W SATEe AT HH H HH hd-l U i ST 16T ? F97 ST bt 19T 2790
% 3ifohd Tod & 25 Ufaerd & A & Tehelt & 2 2

What is minimum amount to be received by the company as application money on

shares ? Can application money exceed 25% of the face value of shares ?

23. Ul Ol (hiueet ReTe) 1 € ? o8 3299 d1ey [ST9eh [T ST T TohaT ST Gehal ¢ | 2

What is Capital Reserve ? State the purpose for which it can be used.

304/1 7 [P.T.O.



24, FOTOH % HEA & feT A5 ufafte HifST STa T 100 U o sifhd 9od T 99ged I
g 7o ¥ 90 W e fepar Siar e |

Pass Journal Entry for issue of debenture when a debenture with face value I 100 is

issued at ¥ 90, repayable at par.

25. o] SO R TS ST H T 3T E 2

What is the difference between Current Ratio and Quick Ratio ?

26. e vATE Taawur i w1 37 & 2

What is meant by Cash Flow Statement ?

27. T 3G STUIT i TUMT & i fafey Ty |

State the method of computation of Stock Turnover Ratio.

28. AN @ik | Wedel |IHl h1 o1 37 & 2 Ueged Wi o & 3SRl ST |

What is meant by Direct Material in Cost Accounting ? Give two examples of Direct
Material.

29. NI SIEiehT H ‘UcHe] o4 hl 37 12U ] ‘Ucdel 93 hi Ueh ISRI0T 9 ST |

State the meaning of ‘Direct Expense’ in Cost Accounting and also one example of
Direct Expense.

30. SUNSIAT % IR0l o hig & 3R Fd12y |

State any two basis of classification of Overheads.

31. NG oG H U A Bl 37 SaTeU 9T ‘Ucdel HH’ hl Ueh 3S8Y0T Wl SIfTU |

State the meaning of ‘Direct Labour’ in Cost Accounting and also one example of
Direct Labour.

32.  “ogell @T &1 B ¢ 2

What is ‘Realisation Account’ ?

304/1 8



Tqug - 3 / Section — 3
T T 4 I [h=l 36 U9l & I T |

Answer any eight questions from this section.

33, “®@’ 3N T UH WY H WERR € | “F’ B HURE A (TS A T Teel & IF o F 10
TieTe HHIPH THeAdT & | T o1 HUIRH AT A o 1% T5 o H 10% HHH T i foerar
T 1 I o HHEE T T T Ued Iy o™ T 50,000 &7 | <7 F “T7 N HHYH A BT |3
C and D are partners in a firm. C is to get a commission of 10% of net profit before

charging commission. D is to get a commission of 10% of net profit after charging C’s
commission. Net profit before charging any commission was ¥ 50,000.

Find out Commission of C and D.

34, WERRIEH % (dqeed & a5 agell QT & 5T S & 2 3

How ‘Realisation Account’ is closed on dissolution of Partnership Firm ?

35. U 3F vfaftedt feh o ST Yanfgd WERR & S Wi o S e | S UH U wiate
TGt oRar 1 98T | AT TR, Sarey | 3

State any two entries you would like to record on the credit side and one entry on the

debit side of retiring partners’ Capital Account.

36. TR foIfee A W T 9 | T 38,000 i wrfadt 3 w1 39 T 10 U % 3,000 3T
Y oI W Yo7 WS % &Y H I [T a2 6 Uidwet o 3T 1 T kg § forar |
FAT (T fetties) ot q&dehl § Asiraen st i | 3

X Ltd. purchased assets of ¥ 38,000 from Shyam and Sons. It issued 3,000 shares of
% 10 each as fully paid at par and paid the difference of purchase consideration in cash.

Pass Journal Entries in the books of the company (X Ltd.)

37. TEA® FAET fAfreE 7 ¥ 100 T & 10,000, 12% FOUF 10% % 95 W Ha fvw | &
FOTOS T God W A § |
12% 0T o FRTE 3R 9o o fotw T ufaftedt wifse | 3
Good Luck Company Ltd. issued 10,000 12% debentures of I 100 each at a discount of
10%, these debentures are redeemable at par.

Pass Journal Entries for issue and redemption of 12% debentures in the books of the
company.
304/1 9 [P.T.O.



38.

39.

40.

41.

42.

43.

304/1

forirar foreron & faveTuoT T 319 U Hewd adTey |

State the meaning and significance of the Analysis of Financial Statements.

T TShaTeheldl 9§ Uehg Uellg h1 Ueh UTeT =730 |

Prepare a format of Cash Flow from Operating activities.

T YRS 991 {oeha SUNeTT & 372 Jd18T T U9nE- 3UNTT & gf SSEI0T 31T |

State the meaning of Administration Overhead and selling overhead and give two

examples of Administrative overheads.

ToIoT SUNETT 1 37 SaET aUT U SURSTAT & &1 3SRL0T Wi JIeT |

State the meaning of Distribution Overhead and also give two examples of these

overheads.

TRITRT ol TS ST Uiferdt 6 3R 371 ¢ 2 9 fefq 9aRu S/ Ush WERRl wH o ERRt
T TR STie Tiferdt sht 9ot 0feT T & STt & |
What is meant by Joint Life Policy of Partners ? State the situation when full amount of

Joint Life Policy is received by the partners of a partnership firm.

Qug-4/Section — 4
T Ee | Y foel a9 Ul & I T |
Answer any three questions from this section.
TG qAT T SHETT: 2 ;1 o U H o BT {aAsH W@ S | 31 TEeR, 2010 3w

qoTIA 5T TR T

T I Ieit 30,000 | ®HER 11,000

Hied i qsit 25,000 | fatF=mT 7,000

fafay oFsR 9,500 | =i 38,000
TR 8,000

W uEEE 400 7,600
BCS 900
64,500 64,500

10
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44.

45.

304/1

TH T GAG H G4 T | Thg i BIgHT B Bl I IRGHET & T 56,000 I TG 5 |
fafay IR % 9T FUer & faw T 9,000 1 T 2 & T | a6l & 29 T 600 3 |

(2 [aYaY
G AT QWIAT I IS |

Ram and Mohan were sharing profits in the ratio of 2 : 1 respectively. On

31" December, 2010 their Balance Sheet was as follows :

Liabilities Am;’““t Assets Am;’““t

Ram’s Capital 30,000 | Furniture 11,000

Mohan’s Capital 25,000 | Investments 7,000

Sundry Creditors 9,500 | Stock 38,000
Debtors 8,000

Less : Provision for
Bad Debts 400 7,600

Cash 900
64,500 64,500
The firm was dissolved. The assets other than cash of the firm realized I 56,000. Sundry

creditors were paid in full settlement ¥ 9,000. The expenses of realization were T 600.

Prepare Realisation Account.

YT feAtHeE 3 SThetd=< ol T 10 UF o THYed W AT 300 37T &1 39 W T 3 Ui 379r
AT T AT FH PIAE T FA & RO &0 > | T80 F 200 3797 33 i
3 6 U 39 % Qe ¥ 3R YO Ve O gU YA I oY QT | 3R & eer aur O
e & foTw s wfafedr ST |

Budhua Ltd. forfeited 300 shares of ¥ 10 each fully called up held by Akalmand for

non-payment of final call money ¥ 3 per share. Out of these 200 shares were re-issued
to Shyam at X 6 per share treated as fully paid up. Pass Journal Entries for forfeiture and

reissue of shares.

T fAfiee 1 okl U 2 ;1 € | A SHHN Wik T 40,000 & 9T FeA =l 1
% 1,00,000 &, A ST 9T6] U I AT HIWT |

X Ltd. has a liquid ratio 2 : 1. If its stock is ¥ 40,000 and total current liabilities are
% 1,00,000, find out its current ratio.

11 [P.T.O.



46.

47.

304/1

Ffaiad sl ¥ ST ISt O% Ui 3l UiRehietd ity 5

4
39T it 18,00,000
10% 0T 2,00,000
SR 10,00,000
Y I 4,00,000
34,00,000

From the following data, calculate return on capital employed :

L4
Share Capital 18,00,000
10% Debentures 2,00,000
Current Liabilities 10,00,000
Profit for the year 4,00,000
34,00,000

HIEIERT & o foreie W @it ol (9eRT i & feld 321U ST afel SheAl &l Soei@ &HiiT | 5

State the steps which are taken to settle the accounts on dissolution of the Partnership

Firm.
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